- Stadt - Land - Fluss (LK'-Niveau)
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f(x) = 2x-8

f(x) = 20x3+15x

f(x) = —4x3-6x%+3x

f(x) = 1/4x3-3x

f(x) = =1/2x2+5

f(x) = -x*>-7x-10

f(x) = —4x3-6x%+3x

f(x) = =1/70 x*+21x

f(x) = x*-64

f(x) = -64x*+6

f(x) = 6x*=3x2+2

f(x) = =1/20x*+6/5x>~4

f(x) = 20x>+15x

f(x) = 1/9%3-1/6x*-2x

f(x) = x*-x2+1

f(x) = 64x* + 4

f(x) = 1,5x—-x3-9x?

f(x) = 23x*-42x?

f(x) = 27x>-64

f(x) = 12x6-2x3-2

f(x) = 1,5x—x3*-9x?

f(x) = 64x*

f(x) = 74x*

f(x) =—4x*=3x?+2

f(x) = —4x3-6x>+3x

f(x) = 64x*

f(x) = 4x*=x2+1

f(x) = =1/20x*+6/5x>~4

f(x) = 1,5x*-x>-9x?

f(x) = -1/20x3+15x

f(x) = =1/20x°+15x

f(x) = 23x3-42x?

f(x) = =1/6(5x5-5x+15x)

f(x) = e*(x*—x)

f(x) = =1/3(x>~70x°+35x)

f(x) = x*-6x%+9x

f(x) = 1/32(x>-5x?)

f(x) = 1/2xe*

f(x) = 23x3-42x?

f(X) = 0,2928X +1 o 0,190’15X

f(x) = (x+6)(x—2)(x—-4)

f(x) = 1/9%3-1/6x*-2x

f(x) = eX(x*-x)

f(x) = 0,1x—e**?

f(x) = 1/9%*-1/6x?-2x

f(x) = =1/20x*+6/5x>~4

f(x) = 27x* - 64

f(x) = 1/9%3-1/6x2-2x

f(x) = =1/20 x*+15x

f(x) = x*-6x2+9x

f(x) = =1/36(3x°-50x>+135x)

f(x) = x®-6x2+9x

f(x) = 1/32(x5-5x*)

f(x) = 1/9x5-20/27x*~10/9x>

f(x) = 23x3-42x?

f(x) = 1/9x°-20/27x*-10/9x>

f(x) = -8xe*

f(x) = 5x*-3x2+2

f(x) = x*=x2+10

f(x) = 1/2 x*=3x2+2

f(x) = 2x3+4x*-30

f(x) = =1/36(3x5-50x+135x)

f(x) = e™(x+1)

f(x) = =1,7x*+9,7x3-16,4x2+10,3x

f(x) = 1/32(x>-5x%)

f(x) = 2xe*

f(x) = —x2e*2

f(x) = 2x3+4x*-30

f(x) = =1/20x*+6/5x>~4

f(x) = 2x3+4x*-30

f(x) = 12x%-2x3-2

f(x) = 1/9x5-20/27x*-10/9x>

f(x) = =1/20x3+15x

f(x) = 0,06€%2%

f(x) = e*(x>—x)

f(x) = e™(x+1)

f(x) = 0,2e0,28x - 0,1e0,315x

f(x) = —12x4-x2+1/5

f(x) = 1/32(x>-5x?)

f(x) = 3x—e>*

f(x) = 1/32(x°-5x")

f(x) = (x+1)e™

f(x) = (x+1)e™

f(x) = =1/36(3x°-50x°+135x)

f(x) = e™(x+1)

f(x) = —4x3-6x2+3x

f(x) = e™*(x+1)

f(x) = 1,5x*-x3-9x2

f(x) = e™*(x+1)

f(x) = —1/4 x*+15x

f(x) = eX(x*-x)

f(x) = x*-3x2+2

f(x) = 0,156x%~0,345x%+3,46

f(x) = —0,556x%e* "2

f(x) = =1/20x*+6/5x>-4

f(x) = 0,7%5< + 0,1€%0%

f(x) = 0,57x*~0,453x?+1,43

f(X) = —=x2ee*2

f(x) = 27x® — 64x>-32x

f(x) = 27x* - 64

f(x) = 27x® — 64x*-32x+26

f(x) = 1,5x—-x3-9x?

f(x) = 9x5-20x*-9x?

f(x) = x®-6x2+9x

f(x) = e*(x*-x)

f(x) = 0,556x*~0,443x2+1,24

f(x) = e*(x*—x)

f(x) = 27x° - 64x>-32x+26

f(x) = 0,76x%~0,843x%+7,247

f(x) = 0,6x*-0,47x?+1,88

f(x) = 1/9%*=1/6x>-2x

f(x) = 2x8+4x4-30

f(x) = x*-6x2+9x

f(x) = =7/23 x*+1,7x

f(x) = 1,5x*=x3-9x?

f(x) = VAx — 8

f(x) = cos(1/6x)

fx) = 5

f(x) = /1/2x — 5

f(x) = -3sin(x)

f(x) = 3sin(6x)

-5
fx) = 5

f(x) =vx—2

f(x) = 2

f(x) = —3V3x -2

f(x) = i—j
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f(x) =Vix — 8+ 3

f(x) = 5sin(x)+2

f(x) = 4cos(2x)+1/3
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f(x) = - 222
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